G=SP CCFRIEHE N F RIAE

Grade Examination of Software Programming

Python J\Z§

2024 4 03 H

1 B3 (#2454, #£304)

FmS 1 23 456 7 89 10 11 12 13 14 15
% CDBABCCBCD A A B D C

88 AR, HEIREE R 2, KRR, AR S B A R R D ()

binary_search(arr, target):
left = ©
right = len(arr) - 1

while left <= right:
mid = (left + right)

if arr[mid] == target:
return mid

elif arr[mid] < target:
left = mid + 1

else:
right = mid - 1

return -1
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sum(n):

first_term = int(input())

common_diff = int(input())

last_term = first_term + (common_diff * (n - 1
sum = ((first_term + last_term) / 2) * n
return sum

num_terms = int(input())
result = sum(num_terms)
0 print(result)
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triangles(x, y):
if y == y == x:

return 1
else:

return z

(] A. z = triangles(x, y-1) + triangles(x, y)

(] B. z = triangles(x-1, y+1) + triangles(x-1, y-1)

(] C. z = triangles(x-1, y-1) + triangles(x, y)
() D. z = triangles(x-1, y-1) + triangles(x-1, y)
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() A. s={e(3)}

() B. 5={6(3),2(6)}

(] C. s={0(3),2(6),1(5)}
(] D. s={0(3),2(6),1(8)}
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1 def count_divisors(limit, num):
2 s = [@] * (num + 1)
3 for i in range(1, limit + 1):
4 for j in range(i, num + 1, i):
5 s[§] += 1
6 return s
7
8 def main():
9 N, M, K = map(int, input().split())
10
11 s_N = count_divisors(N, 10 ** 6)
12 M = count_divisors(M, 10 ** 6)
13
14 result = 0
15 for k in range(1, K + 1):
16 result += k * s_N[k] * s_M[k]
17
18 print(result)
19
20 if __name__ == "__main__":
21 main()
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import math

T = int(input())
for cas in range(T):
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pos
nxt
for

for

e
1}

for

int(input())

int(math.log(n, 2)) + 1
list(map(int, input().split()))

={}

= [[n for i

in range(m + 1)] for j in range(n)]

i in range(n - 1, -1, -1):

if not (A[i] in pos):
nxt[i][@] = n
else:
nxt[i][@] = pos[A[i]]
pos[A[i]] = i

i in range(n - 1, -1, -1):

for j in range(1, m + 1):
if nxt[i][j - 1] + 1 < n:

nxt[

int(input())

i]03] = nxt[nxt[i][j - 1] + 1][J - 1]

g in range(Q):
1, r = map(int, input().split())
1, r=1-1,r -1

X, ans =1,

0

while x <= r:

while x

<= r and nxt[x][0] > r:

X, ans = x + 1, ans + 1

if x > r:

break

for i in range(m, -1, -1):
if nxt[x][1i] <= r:

X += 1
print(ans)

x = nxt[x][i]
break
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